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********************************************************************************************** 
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********************************************************************************************** 
        molx 002,0max =                  ⇐        0,01-5xmax =0  :    "���Br   ه	 ا   إذا ا��K��G أن- 2-3     - 

        molx 02,0max =                  ⇐         0,02-xmax =0  :    "���BrO   ه	 ا 3 
  إذا ا��K��G أن -

molx 002,0max = : ه	 ا���" و      Br  -       ⇐      02,0002,0 <mol  
********************************************************************************************** 
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آ
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0,02 1n �> ا��"��> 0 ,	'&ة 0  
�� ا

0,02- x xn 51 −   3 x ة&'	, x ��> ا
����	لا  

        molx 02,0max =                  ⇐         0,02-xmax =0  :   "���   BrO 3 
–   

     . molxn 1,002,055 max1 =×==             ⇐    max1 5xn −     :    "�9   Br  -      
********************************************************************************************** 

   xBrn 3)( 2 = 3-   3 -1-  
**********************************************************************************************  

3-2-   
t(mn) 0 2 4 6 8 10 12 14 16 

n(Br2) m. mol 0 30 45 53 56 58 59 60 60 
x(m.mol) 0 10 15 17,7 18,7 19,3 19,7 20 20 

 
**********************************************************************************************  
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********************************************************************************************** 

          smv /5,150103. 2 =××== −υλ  3          (  
**********************************************************************************************  
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********************************************************************************************** 
  5-2- 
�� � 1ث �G ا� �*                    .  6 � ا:+� m#+  . 06: ا�.C� 1.5 � 1ث� ��1�� ���Jز ا����? �G ا���ء � 1ث � �D1 و+�1�+.     

********************************************************************************************** 
.ا6<� ا�P#* .  6 � ا:�,* � <- و�Aل ا����- إ��@�   M 5-3--&Cا�� ��@�      

**********************************************************************************************  
6 ( ->%E�د ا�����ت ا���#��6#�-: ا�<�ه�ة ا���%.                                                                                                


ت ا�	اردة �	��ا 
ت ا����"ة�	�� ا
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**********************************************************************************************  
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: 1υ 
ع ذي ا��&دد>mn� <�+1�

ر ا�6	ء 34� ا�	�` ا ول ��3	m	ر ,+.:K رت
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********************************************************************************************** 
°=−=−= 3,17,272912 DDθ 4-3 - /�4
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20/75,15 20/16 �6ر ا���1 أ�D ا��D�5ن  داوود ا���دن : 23  20/25,17 ���2 أED: �ض  أ+�
 �G -&C6 هnا ا�,   :  

SBIRO Abdelkrim Lycée Agricole Oulad-Taima région d’Agadir  Maroc 
Mail :  sbiabdou@yahoo.fr 

Pour toute observation contactez moi 
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